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& 1 [ [} 30. 0] 18.733 6. 90 11.83 7.02 11. 71 -12
& ] 2 [EF3TH 30. 0] 17.230 6.33 10. 90 6.39 10. 84 -6
& FE | 3 |RER2TH 30. 0] 15.105 5. 74 9. 37 4.75 10. 36 99
= Tl 1 [ Fan2TH 25.0] 13.387 5. 11 3. 28 5. 20 8.19 -9
NP 2 [WnERT 7.9] 14.595 5.13 9.47 5. 19 9. 41 —6
B[ 3 [ EKHHET 25. 0] 14.955 5. 87 9.09 5.92 9. 04 -5
B # ] 1 |EEHT2 T H 25. 0] 13.521 5. 75 7.77 5. 82 7.70 -7
B # | 2 |dEs 30. 0] 14.068 5. 72 8.35 5. 80 8.27 -8
B 3 [9r/\Hf 21.5] 13.813 6.21 7.60 6. 26 7.55 -5
Bl | 4 [HENT 30. 0] 13.041 5. 74 7.30 5. 80 7.24 -6
B P 1 | EMHE2TH 30.0] 11.358 4.69 6. 67 4.76 6. 60 -7
5 B 2 | ELHT 30. 0] 12.290 5. 84 6. 45 5.90 6.39 -6
Gl 3 [N T B 6.3] 11.639 4.75 6. 89 4. 80 6. 84 -5
e Ak | 1 [EEM4T F 30.0] 13.032 6. 47 6. 56 6.51 6. 52 —
B Ak | 2 [ERNTLT A 20.0]  9.897 3. 41 6. 49 3.59 6.31 -18
i A | 3 |&EHETI0T H 20.0]  9.889 3.45 6. 44 3.58 6.31 -13
g K| 4 [&EWE9T H 20.0] 10.196 3.92 6. 28 4.10 6.10 -18
i bk | 5 BmEms ] A 20.0]  9.996 3. 60 6. 40 3.76 6. 24 -16
B W 1 =& 2TH 30.0] 11.852 5. 24 6.61 5.33 6. 52 -9
=] 2 EMNTIT B 30.0] 11.962 5. 55 6. 41 5. 65 6.31 -10
| 1 | EpHI3 T A 25.0] 10.511 4. 49 6. 02 4.53 5. 98 —
i | 2 [JEEHT2 T H 30. 0] _10. 780 4,53 6. 25 4.59 6.19 6
HE B | 3 [HTAEMT2T H 30.0] 9.739 — — 4.34 5,40 —

T ] 4 [FERRET2T H 30. 0] 10.828 — — 5. 06 5. 77 —

# B 5 |ZHEHE4TH 20. 0] 10.398 4. 65 5. 75 4. 72 5. 68 -7
ARG 1 | R T H 8.0] 13.445 6. 06 7.39 6. 12 7.33 -6
A W 2 BERHT2T H 30.0] 12.130 5. 14 6.99 5. 25 6. 88 -11
A W 3 |H#XH2T H 25. 0] 12.390 4.99 7.40 5. 06 7.33 —7
AR 1 [$EHENIT3T H 30. 0] 12.527 5. 40 7.13 5. 49 7.04 -9
AKOKT 2 |E@s5T B 6.0] 11.156 4. 77 6. 39 4. 84 6. 32 —7
Ao A 3 [iEFNT3T H 30. 0] 10.953 4.55 6. 40 4. 62 6.33 —7
Ao AT 4 |iFNT2T H 7.9] 10.876 4. 25 6. 63 4.31 6.57 —6
Ao A 5 |=EIM2TH 8.0] 10.910 4. 47 6. 44 4.53 6. 38 -6
AR 6 [#EMEITIT H 30.0] 11.806 4.91 6.90 5. 00 6.81 -9
A dE| 1 S HETHT 6. 1] 10.944 4. 37 6.57 4,43 6.51 —6
K[ 2 [ErBiET 30. 0] 10.523 4. 14 6. 38 4.15 6. 37 -1
X HFE|] 3 [EEE 6.5] 10.370 4.32 6. 05 4,34 6.03 -2
A SB[ 4 5ER9TH 20.0] 9.122 3.61 5.51 3.55 5.57 6
A ] 5 DRy JHT9T H 20.0] 8.712 3.55 5.16 3. 58 5.13 -3
A JE[ 6 [WELTH 6.5] 10.181 4. 34 5. 84 4. 36 5. 82 -2
B B 1 BEBELTRE 25.0] 10.279 4. 70 5. 58 4.73 5. 55 -3
2 B 2 BEETE 25.0] 9.495 4. 00 5. 50 4.02 5. 48 -2
2 B 3 BEETE 27.0] 9.394 3.92 5. 47 3.95 5. 44 -3
g | 4 |8 E)IEUHE 20. 0] 10.167 4. 96 5. 21 5. 00 5. 17 —/
B B 5 [u%eTH 30.0] 8.673 4. 20 4. 47 4.19 4. 48 1
B B 6 [L%3TH 25.0]  9.021 4. 81 4.21 4. 80 4. 22 1
M Bl 1 W/ FEAT H 30.0] 8.658 4. 34 4. 32 3. 38 5. 28 96
T B 2 |Tim3T E 25.0] 8.368 3.39 4.98 3. 42 4.95 -3
m Bl 3 |[5%ZE2TH 25.0] 8.327 3.89 4. 44 3. 96 4,37 -7
M Bl 4 PREE2T H 22.0] 8.238 3.94 4. 30 4.00 4. 24 -6
i k| 5 |ZAE3T H 30.0] 7.443 4. 52 2.92 4.57 2.87 -5
m % 6 |sHETF1ITH 20.0] 8.201 — — 4.06 114 —

m | 7 |hifs51 B 25.0] 9.096 — — 4.29 1,81 —

i K| 8 |F&B2TH 25.0] 7.755 — — 4. 14 3.62]  —

m B 9 [H&HEE2T F 30.0] 7.394 — — 3. 54 3.85] —

i | 10 [BxHpul ] E 30.0]  8.009 — — 4.18 3.83]  —

m_ B 11 [FTABE3TEH 30.0]  7.928 — — 4. 82 .11 —

M ks 12 [BHmE5sT | 30.0] 7.910 — — 4,18 .73 —

T k| 13 |[ZaE1T E 30.0] 8.628 — — 3. 88 4. 75 —

T kB 14 [JLR2T E 30.0] 7.728 — — 3.45 4.28] —

T k& | 16 |5%E4AT E 30.0] 8.147 — — 3.99 4.16]  —

T k& | 16 79837 E 30.0]  7.495 — — 4. 80 2.70]  —

— H 1 1 [FANSTH 25.0]  9.291 3.79 5. 50 3. 80 5. 49 -1
— H| 2 [REE1TH 30.0]  9.037 3.56 5. 48 3.61 5. 43 -5
— HI[ 3 [FFEITH 30.0] 8.510 3.25 5. 26 3.27 5. 24 -2
= B | 4 [DSEFEESTE 25.0]  7.927 3. 11 4. 82 3.17 4.76 -6
= B | 5 [DREEITE 7.0 9.171 3. 68 5. 49 3.72 5. 45 —
= H | 6 [SEHHITE 40.0]  8.747 4.08 4. 67 3.91 4. 84 17
= B | 7 [REXRESTE 20.0]  7.308 3.01 4. 30 2.98 4.33 3
= B[ 8 [Fm1TH 30.0] 7.748 — — 3.13 1.62]  —




4

— H 1 9 NEARISTH 6.8] 9.525 — — 3. 72 5.81] —
— B | 10 [)N&IL&E3TH 30.0]  7.802 — — 3.52 4.28] —
e | 1 D ERET2 T H 6.8/ 9.865 3.94 5.93 3.96 5.91 -2
e | 2 DiniASKT8 T H 8. 1] 10.994 5. 17 5. 82 5.13 5. 86 4
e |3 e BHET4 T B 6.0/ 9.362 3.75 5.61 3.77 5.59 -2
A [ 1 DinddkeulT 1T H 6. 1] 10.662 4.98 5. 68 4. 96 5. 70 2
s | 2 D)~y T H 8.1] 10.570 4. 56 6.01 4. 49 6. 08 7
s | 3 Dids HET2 T H 30.0] 10.315 1. 76 5. 56 4. 78 5.54 -2
iR | 4 iR EET 7.7] 10.436 4.97 5. 47 4.99 5. 45 -2
MR | 5 Diva ALeT2 T H 6.3] 8.857 3.58 5. 28 3. 60 5. 26 -2
O | 6 [INANAE 2 ARHT 30.0] 9.660 4. 44 5.22 4. 47 5.19 -3
E BT 1 [THEIFE 23.0] 10.699 5. 24 5. 46 5. 32 5. 38 -8
= "1 2 THI+E 25.0] 9.713 4. 34 5. 37 4. 40 5. 31 -6
= & 3 [EIREET 20.0]  9.581 4. 74 4. 84 4. 80 4.78 -6
= W 4 [EJF1T A8 7.0 9.388 4.19 5.20 3 & — —
= R 5 [WJIIFoT H 26.0] 9.132 4.98 4.15 5.01 4.12 -3
= H1 6 [mH 30.0]  9.566 — — 4. 28 5.29] —
= H| 7 [fET3TH 30.0] 10.139 — — 4.59 5.55]  —
EZ40h | 1 b9 B 6.0] 10.816 2. 86 7.96] 3 & — —
E&m | 2 [lb—®571 H 25. 0] 10.428 3.35 7.08 3. 47 6.96 -12
E#&db ] 1 |gi—fm2TH 25.0] 14.037 5.61 8.43 5. 62 8. 42 -1
E&db ] 2 |gi—@l1TH 34.0] 11.056 — — 3.39 767  —
EZE | 1 [EZHITH 25.0] 17.765 6.71 11.06 7.10 10. 67 -39
Eiem | 1 |6 T H 25. 0] 10.247 — — 3.92 6.33]  —
E&m | 2 [o@3T H 25.0] 10.812 — — 3.75 7.0 —
E& | 3 Dmpirl B 30.0] 11. 758 — — 3.59 8. 17| —
E&E | 4 |Epie] B 30.0] 11.846 3.92 7.93 3.83 8. 02 9
E&m [ 5 AR 25.0] 11.347 5. 32 6.03 5.33 6. 02 -1
il 1 |PEEREF1I T H 6.9/ 9.452 4.26 5.19 4,29 5. 16 -3
il 2 |PEEREr2 T H 8.0 9.087 4. 04 5. 05 4. 07 5. 02 -3
il 3 |PEEzEE2 T H 25.0] 7.765 3. 42 4.35 3. 49 4. 28 -7
il 4 P SEREST H 25.0] 8.324 4. 54 3.78 4. 60 3.72 -6
i 5 |PEEAIR2 T H 25.0]  8.447 — — — — —
il 6 |4 ] E 30.0] 8.991 — — 4. 90 4.09]  —

B T EE TN 25.0] 6.671 2. 87 3. 80 2. 85 3.82 2

= 2 _|WHEE3T E 30.0]  6.959 4. 07 2.89 4.10 2. 86 -3

R 3 _|gE6e T E 30.0] 6.833 3.59 3.24 3.59 3.24 0

R 4 |HFE3TH 30.0] 7.733 — — 4.06 3.67]  —

S 5 |H=E2TH 30.0] 7.414 — — 3. 36 4.05]  —

= 6 |TFE3T H 30.0] 7.032 — — 3.33 .70 —

R 7_|mEFEITE 30.0]  8.580 — — 5. 09 3.49] —
HiEgL | 1 |[AELTP S 30.0] 5.818 3.49 2.33 3.01 2.381 48
HiEL [ 2 [ROK 30.0] 7.684 4. 30 3. 38 4.31 3.37 -1
HiEr [ 3 [HEL4 T H 42.0]  5.850 — — 2.97 2.83]  —
H [ 1 [BHER 7.0] 22.965 4.99 17.98 5.12 17.85 -13
FEE] 1 PDFRRBITE — 34. 593 5. 69 28.90 5.79 28. 80 -10
nHEE ] 2 PDrAEINITH 9. 7] 34.221 5. 96 28. 26 6.70 27.52 -74
*RE 3 [DFR2TH 9.7] 33.980] K & — T V8 — —

= 1 [FErEmlI T H 5. 1] 30.241 4,62 25.62] & 18 — —
£ Bl 1 [EE 30.0] 17.914 5.31 12. 60 5. 40 12.51 -9
£ Bl 2 [EE 30.0] 17.788 — — 5.91 11.83] —
£ Bl 3 [EE 20.0] 17.645 — — 5.94 L7 —
EREE] 1 [EEWHTH 30.0] 18.814 5. 88 12.93 6. 08 12.73 -20
EE®R ]| 2 [EEFTER 30. 0] 20.093 5.61 14. 48 5. 63 14. 46 -2
EE® | 3 [HsEi3T | 6. 1] 21.891 5.28 16. 61 5. 18 16. 71 10
EEE|] 4 |[9JHE4TH 7.0 23.779 5.35 18.43 4. 87 18.91 48
EE®R]| 5 [EE&LE 6.0] 27.124 6. 10 21.02 — — —
EEHR| 6 |[RELEH 30. 0] 19.965 — — 5. 33 14.64]  —
ERvE | 1 [EE®EHE3ITH 8. 1] 17.253 5. 41 11.84 5. 50 11.75 -9
EBW [ 2 [REHTLT H 30. 0] 17.322 5.75 11.57 5. 84 11.48 -9
R | 3 |[#WECEHT 30. 0] 16.921 — — 5. 15 1.7 —
ERW [ 4 [JRET2 T 30. 0] 16.644 — — 5. 27 11.37]  —
EREW [ 5 [fEET2T H 30. 0] 16.997 — — 5. 58 11.42]  —
EREM] 6 P\R2TH 7.9] 17.170 — — 5.52 11.650  —
B [ 1 [FEKR 30. 0] 13.520 4. 80 8.72 4.70 3. 82 10
CE 0 [ 2 BT 6.0] 13.975 4. 38 9. 60 4.57 9. 41 -19
% L[ 3 [BLAwmsTH — | 15,400 1,89 10.51 5. 03 1037]  —14
B 0| 4 [ LA — | 14,134 177 9.36 187 9. 26] 10
B 0| 5 [EL2lH 30. 0] 15. 080 4.03 11.05 4.19 10. 89 -16
HOH|[ 1 [FEEAI4TH 6.5| 15.688 — — 5.99 9.70]  —
B OH | 2 DEh2TH 6.4] 14.158 — — 5. 25 8.91] —
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H W[ 3 SHI 1] H 30. 0] 14. 446 — 5. 14 9.31] —
H Wl 4 [FFEFI3TE 30.0] 16.512 — — 6. 06 10.45] —
W = 1 [ETJEITH 30. 0] 15.985 — — 5. 09 10.90] —
W = 2 [EHE2TH 30.0] 15.019 — — 4.69 10.33]  —
B s [ 1 [HIR® 5.8] 12.412 3.93 8.48] & — —
B w2 TH[ER g RmT 30. 0] 13.978 5.01 8.97 5. 16 8.82 -15
B &K | 3 [HIEGEHH 6. 4] 15.323 5. 68 9. 64 5. 85 9. 47 -17
B & | 4 [HIERF1ITH 30.0] 14.024 — — 5.03 8.99] —

5 I EEEEESE 30.0] 10.884 4.07 6.81 4.16 6.72 -9

5 2 |4t 30.0] 11.451 4. 37 7.08 4. 47 6. 98 -10

5 3 [/ EE3TH 8.0 13.771 5. 36 8. 41 5. 48 8.29 -12

5 4 _lyrQo 30.0] 11.552 4. 87 6. 63 5.03 6. 52 -16

5 5 |'®/ESTE 6.8] 11.620 — — 5. 04 6.58] —

= 6 dEE5TH 30.0] 11.583 — — 3.98 7.60]  —

= 7 | EE3TH 30.0] 11.642 — — 4. 38 7.2 —

5 8 [H/E2TH 30.0] 11.125 — — 3.76 7.3 —

5 9 |'mAS5T H 30.0] 11.089 — — 4. 30 6.79]  —

= 10 [dbE1TH 30.0] 11.188 — — 3.93 7.26]  —
W | 1 [BXN5TH 30.0] 14.465 — — 5.92 8.55] —
W | 2 |H =Rzl B 30.0] 12.714 — — 4. 86 7.85] —
W W[ 3 [EEENSTH 30.0] 12.421 — — 4.29 8. 13 —
[k W[ 4 BRI T H 7.8] 12.713 — — 4.77 7.9 —
I 1 [FEEBELIT R 25.0] 23.974 6. 80 17. 17 7.03 16.94 -23
e B 1 [=HH 20. 0] 22.378 6.37 16.01 6.59 15. 79 —22
=FH ] 2 [AWLITH 30.0] 18.663 — — 6. 15 12.51] —
K H 1 [HbHi 7w 25.0] 13.837 4. 58 9.26 4. 66 9.18 -8
K H 2 [Eafli - v 25.0] 12.144 — — 3. 20 8.94] —
K W] 3 [’RKH5TEH 30. 0] 12.242 — — — — —
K H] 4 [TKA 20. 0] 13.260 4. 70 8. 56 4. 82 8. 44 -12
+ | 1 |HkH 27.0] 14.324 — — 5. 25 90.07]  —
+ W 2 [k 30. 0] 13.551 — — 5. 28 8.271 —
+ W 3 2T H 30.0] 16.778 — — 7.34 90.44]  —
£ 9 4 UIE3STE 30.0] 11.827 — — 3.89 7.9 —
£ W[ 5 [ EREN\E 30.0] 13.633 — — 5.17 8.46]  —
A 30. 0] 22.765 11.52 11.25 — — —
H OB 2 [EFEAES 25. 0] 16.984 6. 46 10. 52 6.95 10. 03 —49
H ] 3 [Fhr 7.0] 13.735 3.07 10. 67 3.29 10. 45 —22
H OB 4 [HEEBE3TH — 12. 697 2. 82 9. 88 3. 05 9. 65 -23
H OB [ 5 W rolT 25.0 | 14.373 — — 4. 89 90.48]  —
H ] 6 [Fr 7.0 | 12.740 — — 3.29 9.45]  —
HOF [ 7 [ KFEM2TH 30.0 | 13.881 — — 4. 14 0.74]  —
HOF [ 8 [ KFEIF2TH 30.0 | 13.585 — — 3. 46 10.13]  —
H [ 9 |[FdaesE 30.0 | 12.159 — — 2.35 9.81] —
a8 1 P51 B 30.0] 23.313 12. 87 10. 44 — — —
W G5 | 2 /N5 H 30. 0] 18.623 3. 36 10. 26 8. 85 9.77 —49
7 3 NEF2T H 30.0] 17.569 6.21 11. 36 6.70 10. 87 —49
)5 & = 30. 0] 19.404 2. 88 16. 52 3. 02 16. 38 -14
A R 1 [WEFKR2T H — 29. 127 3.04 26. 09 3. 17 25. 96 -13
M R 2 TR 30. 0] 35.083 2. 77 32.31 2.92 32.16 -15
M R 3 |HIRR4TH 7. 4] 37.638 0.82 36.82] 3 & — —
& E|l 1 |—-HiH 20.0] 11.446 5. 68 5. 77 5. 74 5.71 —6
& ¥ 2 [FFEH3TH 25.0] 9.328 3.72 5.61 3. 77 5. 56 -5
& | 3 |[E 30.0] 8.439 3. 77 4. 67 3.75 4. 69 2
& Bl 4 [8%E 30.0] 11.079 — — 3. 14 7.9 —
—imdt [ 1 [JEE IR 30. 0] 41.939 1. 36 40. 58 — — —
—imlt | 2 [JEWR 8. 4] 41.093 5.59 35. 50 5. 84 35. 25 —25
— Wi 1 | RERILENZ 38 — 32.341 5. 47 26. 87 6. 17 26. 17 -70
Bl 1 |hnEy sk — 30.523 5.83 24. 69 5. 57 24. 95 26
B 2 SR 30. 0] 32.953 3. 21 20. 74 3. 40 29. 55 -19




